Challenge_0_Practice_1

Count how many.
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Fill in the missing numbers.

12)

1wl 9|8l 76| 5] 4] 3 1
13)

1121 3| a|5 |6 ] 7] s 10
14)

1121 3|a|5 |6 ] 7] s 10
15)

1 1213|4516/ 7] 8 10
16)

1 12| 3| a|5s5 |6 7] s 10
17)

1wl 9| sl 76| 5] 4] 3 1
18)

0wl 9| 8| 76| 5] 4] 3 1
19)

1121 3| a|5 |6 ] 7]s 10
20)

1wl 9| sl 76| 5] 4] 3 1

0 1 2 4 5 6 7 10
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Fill in the missing numbers.

21) 22)
10 9 8 7 6 5 1
23) 24)
1 2 3 4 5 6 1
25) 26)
10 9 8 7 6 5 10
27) 28)
10 9 8 7 6 5 10
29) 30)
1 2 3 4 5 6 10
31) 32)
1 2 3 4 5 6 10
33) 34)
1 2 3 4 5 6 1
0 1 2 3 4 5 6
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Add.
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Find the sum
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Find the difference.

89) 4 %) 8 i) 8 2) 7 %) {
-4 -8 -9 -6 -4
_ 0 _ 0 3 1 _2
%) 10 %) 10 %) 10 7) 4 %) 10
-~ 9 .3 .7 -2 . 4
1 _ 7 _ 3 _2 _ 6
%) g 100) 3 101) 4 102) @ 103 |
_3 1 3 7 _2
104 8 105 @ 106) 9 107) 9 108) @
_ 5 _6 1 _ 0 3
109 g 10) 4 1) 6 12) | 13 g
-6 -1 -1 -4 -8
_ 0 _ 0 _ 5 1 1
14) 3 15 10 16) 7 17) 3 18) @
-3 - 2 -9 -1 - 4
_ 0 _ 8 _2 _2 _5
19 § 1200 4 121) 7 122) g 123) 10
-4 -3 -7 -9 - 8
_4 1 _ 0 1 _ 2
0 1 2 3 4 5 6 7 8 9 10
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Complete each family of facts.

124) 125)
3
2 1 1
2 |+ 1| =13 =
11+ 2| =13 =
3|1 -121|=|1 =
3|1 -11]=1|2 =
126) 127)
6
5 1 4
5|1+ |1 =16 =
11+ | 5| =16 4 =
6| -|5|=1]1 =
6| -11]|=15 =
S B N T T :
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